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A.nswer all the followinq questions:

Question 1 (30 marks)

The fol lowing are Mult iple Choice eLrest ions.
eaclr  quest ion (Choose orr ly ONE ansr,ver).

l .  The r.vord "kanban" lueans
a) lorv i rrventor l ,
b) card
c) corrt inuous inrpr.ovement
d)  Io t  s ize  o f  o r re

l .  Which one of ' these is a system for reducing
changeover t ime?
a )  S M E D
b) . l ic lol ia
c) 

- f  
PS

d ) I( iazen

One of the major advantages ol'process layor-rts is:
a )  h igh  equ ipnent  u t i l i za t ion
b) large rvork- in-process inventor ies
c)  f lex ib i l i t y  in  equ ipment  and labor  ass ignmenr
d) snrooth and cont inLtoLrs f lorv of work

A process layout problem corrsists of 4
depafiments. each of which can be assigned to
one of fbr.rr locations, The number of different
solution alternatives to be considered equals
a ) 4
b)  te
c )  2 4
d)  None o f the  above

A product ion l ine is to be designed fbr a. job with
fbur tasks. The task times are 2.4 minutes, L4
minutes. 0.9 minutes. and i .7 minutes. The
maximum cycle t ime and the minimum cycle
t iure equal.
a )  I  .6  and 0 .9
b) 6.1 ancl2,4
c)  2 .4  and 0 .9
d)  none o f these

Product ion ancl  Operat ions
N{anagement

Cocle:  PRE 525 Year :  Dip loma.
Tinre Allorvecl :  3 hours
Total N{arl<s : 100 marks
Exanriner: I)r.  f)ma Nacla

Reacl the quest ions caref i r l ly and select the most appropriate ansrver for.

6. A project. as one of the basic process rypes.
would be the most appropriate for which of the
fbl lowing sitr"rations?
a) assemblirrg autornobiles
b) producing TV sets
c) construct ing a highrval,  tLrnrrel  or br ic lge
d) ref ining of crLrde oi l

The center-of-gravi ty utethocl is usecJ pr imari ly
to determine rvhat type of locat ions?
a) service locat ions
b) manufactur ing locat iorrs
c) distr ibut ion center locat ions
d) suppl ier locat ions

The special  at tr ibutes or abi l i t ies thi i t  g ive ar.r
organizat ion a competi t ive edge is cal lecl
a) Ftrrrct ional strategies
tr) Balancecl scorecards
c) Core competencies
d)  SLrs fa i r rab le  i r r i t ia t i ves

In the basic EOQ model,  i f  leacl  t ime increases
from 5 to 10 days, the EOe wi l l :

a )  Doub le
b) increase. but not c louble
c) decrease by a factor oftrvo
d) remain t l re sarne

Heurist ic approaches to l ine balancing wi l l
g lrarantee obtaining an opt intal  solut ion.

a) True
b)  Fa lse
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a )

b)

c )

d )

e )

Factor Weieht Location X Location Y
All luence of local populat iorr 0.2 30 30
Traffic flow 0,4 50 20

Tarking availabi l i ty 0,2 J U 40
Growth potential 0.2 l0 30

Question 2 (20 marks)

Identil.r' flve dill'erences betr.veen proclLrction and service operations. (-r nrarks)

Compare job shop attd continuous processes on the basis of variety. volume- equlpnert uri l ization.sclreduling, and inventory. 
--"-'r 

(,-i marks)

what is meant by order lvinners and order quali f iers? How clo t l iese change over t inre,.) ( j  nrarks)

contpttte the nlLrlt i factor prodr-rct ivity measut'e for an eight-hor-rr clay in which the 'sablr-, olrtprt w's j00Lttlits' prodtrced by three wot'kers lvho used 600 pourid! of nraterials. workers have a, hoLrrly wage of$20' and material cost is $l perpound. overhead is 1.5 t imes laborcost. (4 marks)

A ful l-service restaurant is consiclering opening. a new faci l i ty in a specif ic city. . fhe 
table belor.v, shorvsits ratings of four factors at each of trvo potential sites.

i leconrnrend rvhich sire shoulcl be choseir? ( j  rnarks)

Question 3 (25 marks)

a) List only l ive of the assumptions of the basic Economic order euantity (EOe) mociel. (-5 'rarhs)

b) Discuss the sensit ivity of the EoQ to variat ions in demand or costs? (2 'rarks)

c) P'ovide a dctai led deri i 'at iort o1-the Econonric Production er,rantity (Epe) equatiorr. (g rr iarl ts)

d) A nranufacttrr ing coll lpany proclrtces a procluct for rvhich the annual clenrand is 10.000 units. productiorr
averages 100 per day, while demancl is 40 per day. Holding costs ur. sz.oo per u.i t  pef yeaf; set-Lrp cosrs$200'00' If they wisl.r to prodttce this prochict in economic batches, calculate the follorving:

l l 0 rna rks )
i.  The Econontic procluction euantity (Epe)

i i .  l-he nrarxinrrul iurreutor.y lei. ,el
i i i .  fhe nunrbe.r of run cycles per year
ir'. Thc lengtrr of the plrre consumption (only usage) portion of trre cycre
v. The total annual cost
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a) lp 1ea1 ntartul lctul ing cnvironnrent.  uhat are the seven rvA.stes that shotr lc l  l re cotr l r t l i lc ' j ' . '

cxplairr  the -53 approaclt  ibr u 'ol i i l l lace orgatt izal iou.

Briefl l '  discLrss eacli  ol '  the tbl lo'"ving concepts: value-added. Agil i ty. sttstainalr i l i tr ,

Flei iunka. outsout'ciug. Balancecl Scorecard (BSC)?

Disti irgLrisl i  bettt 'eett pr-rslt  ancl ptt l l  svstetr is'

o )

,\l:;o. trt'tr:11,r'
( 6 ri ial' l 's )

SW( lT  ana lvs is .

{ 7 ntiirlis )

( l  n i n l k s )c )

L l ) A corlp:rn-r '  is designing a procltrct layoLrt for
hr.rr.u's a clav iu orc' ler to trteet a schedLrle o1'400
are cletai lecl in the table' belciu'.

a  new proc luct .  I t  p lans to  usc ' t l t is  pr l r lL tc t ia t i  l ine e ight
r-rnits per clait.  The tasks necessarv to pr()LlLlcc this procitrct

t l 0n r r i l i . s )
Taslr Imurecl ia te

Pleclecessor
l 'asl< Tine

( i n  seconds )
5 0

t) A i 6
C
D 1 1

Il B . D 70
t C . E 3 0

I) rau' the prececlertce d iagratr-r.

ContpLtte the o,cle t inte needed to meet the clai ly schecluled outpttt .

Detemrine the nri u i  l t i t t tn tr l t trtbet '  of n'orkstatio ns leqtt irecl.

iJahurce the l ine usirrg the longest processiug t inre her-lr ist ic.

Corlpute the lesLrltrng percent idle t inre and elf lcierrcy of the asserrrblv l ine

===================== EndofQuest ions  ======================

?//til. ,tw futl actiet

Dz. 1waqotaVlar{a

Tlris exanr nleasures the follor,virrg ILOs
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Q l
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